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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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Y9797 H HIF GHYT l9ehcq F&1 & | e 1 3% it 2 o1 7, 2 37hl ard
2 Y51 5, 8 37h] dici 4 oA H 3K 4 3l it 8 Il H R [4eheq Ja77 13T
7T § | B8 oA 7 379! 13T T fdHeql § G SecT Uk FIT & BT 8 |
SIFA] F JIIT BT IFAT TE & |

General Instructions :

(i)
(it)
(ii1)

(iv)

(v)

All questions are compulsory.
The question paper consists of 30 questions divided into four sections —
A, B, C and D.
Section A contains 6 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks each
and Section D contains 8 questions of 4 marks each.
There is no overall choice. However, an internal choice has been provided in two
questions of 1 mark each, two questions of 2 marks each, four questions of
3 marks each and three questions of 4 marks each. You have to attempt only
one of the alternatives in all such questions.
Use of calculators is not permitted.

Qs A

SECTION A

97 &1 6 T T4 J97 1 3% H & |
Question numbers 1 to 6 carry 1 mark each.

1.

130/3/1] e

feama TfieRt (x + 5)% = 2 (5x — 3) Tl fafama (discriminant) fafET |
Write the discriminant of the quadratic equation (x + 5)2 = 2 (5x — 3).

Fd HIY Tk g %%Wwww%mﬁwﬁ%
2°.5%.3
G 37 B0 |
AT
AT 429 I 38 U UHEUS] o TUHHe o &Y H h T |

Find after how many places of decimal the decimal form of the number
27

23 5% .32

will terminate.

OR

Express 429 as a product of its prime factors.
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8. 6% J¥H 10 U 1 AMTHA ATM HIWT |
Find !:he sum of first 10 multiples of 6.
4. 3fg fig A0, 0) 7 fig B(x, —4) % e 1 gt 5 % B, A x % UH @

HIT |
Find the value(s) of x, if the distance between the points A(0, 0) and
B(x, — 4) is 5 units.

5. B ada b(a>b)® QA Hhgl g9 G T E | 7€ g9 H SE, S BRI
&1 ToeiEn &, < TS AT I |

Two concentric circles of radii a and b (a > b) are given. Find the length of
the chord of the larger circle which touches the smaller circle.

6. IR 1H, PS =34, QS =4, L PRQ =60, ~ PSQ = 90°, PQ 1 RQ TN
RQ=98M 2 | tan 01 IH I HIfT |

P
3 ot
S
4 9w
0 n
R 9 Tft Q

31 1

AT

ElﬁtanOL:% 2, dl sec o T HIF JTd <hIfT |

In Figure 1, PS =3 cm, QS =4 cm, £ PRQ =6, Z PSQ =90°, PQ 1L RQ and
RQ =9 cm. Evaluate tan 6.

P
3 cm
S
4 cm
0 ]
R 9 cm Q

Figure 1

OR

If tan o = % , find the value of sec o.

BT E.1O:
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SECTION B
Jo7 17 G 12 T TAP JoH 52 3HF 5 |
Question numbers 7 to 12 carry 2 marks each.

7. W3 A3, 1), B(5, 1), C(a, b) 31 D(4, 3) & HATR Ig4S ABCD % ¥ fog

2 1 addl b % I TG HIC |
AT

fagatl A(-2, 0) T& B(0, 8) ®I Sied ol @r@e I &g P a1 g Q
gufnfom w0 §, 9 P fig A % fie 2 | Figail Pawn Q % FrEwi® T
SHifSTT |
Points A(3, 1), B(5, 1), C(a, b) and D(4, 3) are vertices of a parallelogram
ABCD. Find the values of a and b.

OR
Points P and Q trisect the line segment joining the points A(- 2, 0) and
B(0, 8) such that P is near to A. Find the coordinates of points P and Q.

8. =1 s wftentwr I i gt HIT
3x—by=4
2y + 7T=9x
Solve the following pair of linear equations :
3x—-by=4
2y + 7T=9x

9. 3fc 65 T 117 & H. 9. (HCF) &l 65n — 117 % &9 T AT S TehdT B, dl n

%1 A F1d HITY |
3TdT

= < geg il W F o v wy arel el 3R 3% hen I s ShA:
30 cm, 36 cm AT 40 cm 8 | YIS I —[AqH fehaH] gl aF HTA BRI Tob @fl
O qUi heHi H THH gl = ?
If HCF of 65 and 117 is expressible in the form 65n — 117, then find the
value of n.

OR

On a morning walk, three persons step out together and their steps
measure 30 cm, 36 cm and 40 cm respectively. What is the minimum
distance each should walk so that each can cover the same distance in
complete steps ?

" hapsyijus.com |
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10. T UTH I Th aR hebl ST g | SRRl 1A I (1) TTH H&AT Th TSI
T 7, (i) TTH &I Tsh 19T T 8 |
A die is thrown once. Find the probability of getting (i) a composite
number, (ii) a prime number.

11, 9 @ s i oty s S S ge guisy foh wHieRn x2 - 8x + 18 = 0 W
1E T T 2 |

Using completing the square method, show that the equation
x2 — 8x + 18 = 0 has no solution.

12. 1S o W 7 9 40 7% ! dead fore 2, o U 4 W guE | WH I 9
T hIS AGoRdT Hehled! g | TRkl F1d <hitv foh g8 g Fehret T 1€
W 3Afhd T&AT 7 HT TH U 7 |
Cards numbered 7 to 40 were put in a box. Poonam selects a card at

random. What is the probability that Poonam selects a card which is a
multiple of 7 ?

Qs 9
SECTION C
o7 G&IT 13 & 22 T I T4 % 3 3F 8 |
Question numbers 13 to 22 carry 3 marks each.

13. frel BrgS ABC % 3M¥ A § 4T BC W S T @& BC &l 9§ D W 38

e firerar 2 f6 DB = 3CD 2 | fag Shifsie fo6 2AB2 = 2AC2 + BC2
AUAT

AD 3R PM BYsit ABC 3T PQR 1 30T HTfEehTd § J&fh A ABC ~ A PQR
AB AD
| g T fof = = =— 3 |
@ g PQ PM ?
The perpendicular from A on side BC of a A ABC meets BC at D such that
DB = 3CD. Prove that 2AB? = 2AC? + BC2.
OR

AD and PM are medians of triangles ABC and PQR respectively where
A ABC ~ A PQR. Prove that AB = &
PQ PM
14. ¥g9¢ p(x) I TGIG g(x) ¥ W Hleh SA1d HIWT b FT g(x) T{IG p(x) 1 Th
UGS 7 | e T g R
px)=x®—4x3 +x% + 3x + 1, g(x)=x3—3x+ 1

Check whether g(x) is a factor of p(x) by dividing polynomial p(x) by
polynomial g(x),

where p(x) = x?—4x3 +x% + 3x + 1, gx)= x3-8x+1

BT At
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15. 3Nl A0, - 1), B(2, 1) 3R C(0, 3) a1t Frgst ABC sl YS13ti o Aea-forrgatl @
T 9Tt BISt st &t FTd ShifTT |
Find the area of the triangle formed by joining the mid-points of the sides
of the triangle ABC, whose vertices are A(0, — 1), B(2, 1) and C(0, 3).

16. THIHWN x —y + 1 =0 3N 3x + 2y — 12 = 0 1 UT% W€ | TH gAT, x I y
% ST FHIRIUT ! TS A ATt HH FTd ShITTT |

Draw the graph of the equations x —y + 1 = 0 and 3x + 2y — 12 = 0. Using
this graph, find the values of x and y which satisfy both the equations.

17. fag fifSu fe V3 = mfey gen 2 |
SrqaT
I8 9989 G Fq itV {98 gt 1251, 9377 91 15628 sl W
HE T HA: 1, 2 AT 3 ATHA AT B |

Prove that +/3 is an irrational number.

OR
Find the largest number which on dividing 1251, 9377 and 15628 leaves
remainders 1, 2 and 3 respectively.

18. A, B3R CTys ABC & 31d: & g | fe@mu &

] . (B+C A
(1) s1n( j = COS —
2 2

(i) IR ~LA=90°%, tan(B;CjW‘Tﬁfﬂﬂaﬁﬁﬂl |

AT

M tan (A + B) = 199 tan(A_B):i3 3, W& 0°<A+B<90°,A>B2,

7
@ ATA B 9 1A HINT |
A, B and C are interior angles of a triangle ABC. Show that

) . (B+C A
(1) sm( j = COS —
2 2

(i) If Z A = 90°, then find the value of tan(B - CJ.
OR
Iftan (A+B)=1and tan (A-B) = %,O°<A+B<90°,A>B, then find

the values of A and B.

" hapsyijus.com |
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19. 3THfd 2 #, 5 &t oo & w99 it 8 Avfi It U a1 PQ R | P3R QW
TIYI-@T TR T fog T R wides &l 8 | TP %l a8 14 hiag |

STPIT 2
JreraT
fog Fifse % 99 & vfe st =Iqs 1 emR-ame A god, 99 F Fg |

G <101 AN el B |

In Figure 2, PQ is a chord of length 8 cm of a circle of radius 5 cm. The
tangents at P and Q intersect at a point T. Find the length TP.

Figure 2
OR

Prove that opposite sides of a quadrilateral circumscribing a circle
subtend supplementary angles at the centre of the circle.

20. 6. = 3k 1.5 #). 7= wh q= H g 10 fopi/E. i = A 98 @R
30 fire ®, 98 7t forda &owa Y o= ot ot Sefer f&=ms & fou g ot
TR IR T U AT ATEvIHRdT Bl 7 2

Water in a canal, 6 m wide and 1-5 m deep, is flowing with a speed of
10 km/h. How much area will it irrigate in 30 minutes if 8 cm of standing

water is needed ?
BT At
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21.

22.

orelt hefm TeaTfuesh § R w1 < foIw 1ot e o 40 Tt i srgufeufa
freaffaa v # fenid #i | Tt foenedf fSaq foq srufedm w1 3 ey 91
HIT |

ﬁ.:ﬁﬁ 0-6 | 6-12 |12-18|18-24|24-30|30—-36| 36 —42
qe&q1 .

. ot 10 11 7 4 4 3 1
qe&1 .

A class teacher has the following absentee record of 40 students of a class
for the whole term. Find the mean number of days a student was absent.

Number of 0-6 | 6-12 [12-18|18-24|24-30|30-36|36—42
days :

Number of 10 11 7 4 4 3 1
students :

fpet R % 2 AW (wipers) §, S WER Y T=SIed 78 B0 & | TH
W I Tl hH AT 21 T g IR 120° F HI T THHR THIG hL Tohd]
3 | afEt i g% R % @Y o 8%a 9% 8 1T 7, 98 Wi i |

m% i)

A car has two wipers which do not overlap. Each wiper has a blade of
length 21 cm sweeping through an angle 120°. Find the total area cleaned

at each sweep of the blades. (Take n = %)

@ us 3
SECTION D

9T GEIT 23 & 30 TF I Fo7 F 4 375 8 |
Question numbers 23 to 30 carry 4 marks each.

23.

13 Wit ™ a1t Th JAThR UTeh shi THEHTAT o Teh g W T @HT 36 TR
TS 2 Toh 39 ATk o T ™ o QAT 3d gl W &+ HIeshi A 3R BH @H
I gt 1 oidw 7 Hiew | | F V@ HE GG 2 2 A R, q <A Hieht I
fepert gt o @ e | 2

A pole has to be erected at a point on the boundary of a circular park of
diameter 13 m in such a way that the difference of its distances from two
diametrically opposite fixed gates A and B on the boundary is 7 m. Is it
possible to do so ? If yes, at what distances from the two gates should the

" hapsyijuscom |

pole be erected ?
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24, 3Ifg fret THT 9t % md 9E BT m TOM, $Fh nd 9G & n 0N o SR &l
(m¢n),?ﬁ€ﬂﬁ3§ﬁ5@ﬁ?%%(m+n)ﬂf%?ﬁ@ml
HAAAT
fopet THTaR St < Jem 9 TR 1 ANThRS 18 B | AR usd 3R W g
ST UFH HTE L T 5 O &, I <dH JEATST ! [T I |
If m times the m*® term of an Arithmetic Progression is equal to n times

)th

its n®™ term and m # n, show that the (m + n)*" term of the A.P. is zero.

OR
The sum of the first three numbers in an Arithmetic Progression is 18. If
the product of the first and the third term is 5 times the common
difference, find the three numbers.

25. TH FS ABC i 1 Hive &H 41 BC = 6 ¥, AB = 5 @l 3R
ZABC = 60° & | TR T 311 By 1 @1 hifve. feehl = A ABC i
T gt % T |
Construct a triangle ABC with side BC = 6 ¢cm, AB = 5 cm and
Z ABC = 60°. Then construct another triangle whose sides are % of the
corresponding sides of the triangle ABC.

26. 3ATPId 3 H, HMGE % fTT ST Teh scAlh QT 741 & Sl & Sl — Teh o qel
Teh A T ST 8 | ScAieh 1 SMUR Ueh 6 T YT 1 B4 8 qAT 35 HW

Teh 1T & Torees =g 4-2 ) B | 4 hifse
(a)  Sclioh I Pl TSSIT &% |

(b) 2?‘@@?%%1311%:{ | «;2_\%
(r=22 ifi)
6 it
6 Tt
6 Tt
STFHIT 3

AT

BT At



https://byjus.com/?utm_source=pdf-click
https://byjus.com/?utm_source=pdf-click

[ RSN

IR G Gl Th dTeel AP b Ak oh AR hi & &k ariiar 12308-8 A3
3 | 38k FH a1 =t gameeRr Rl <t Beamd w20 S qor 12 5§ |
STed! S S8 [ SHINT qAT dleel I oA H ot arg shl =6t 1 &b
F1d HINT | (m= 3-14 1 T Hifoe)

In Figure 3, a decorative block is shown which is made of two solids, a
cube and a hemisphere. The base of the block is a cube with edge 6 cm
and the hemisphere fixed on the top has a diameter of 4:2 cm. Find

(a) the total surface area of the block.

(b) the volume of the block formed. (Take =t = %)
- dzem
6 cm
6 cm
6 cm
Figure 3
OR

A bucket open at the top is in the form of a frustum of a cone with a
capacity of 12308-8 cm?. The radii of the top and bottom circular ends are
20 cm and 12 cm respectively. Find the height of the bucket and the area
of metal sheet used in making the bucket. (Use n = 3:14)

27. A freht Boyge 1w yon & TR o= I yeneti &l frEfim fogelt w
yfeeag i o T weh W giw=f Jmw, qr fag Hifse 6 3 o= g ot s &

IruTa § fawrfor &1 ot § |

arera
fag ifre foh ws wmepio Bt & ot 1 ot 919 Q) oSt & o & AR &
R BT 2 |

" hapsyius.com |
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If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, prove that the other two sides are divided in
the same ratio.

OR

Prove that in a right triangle, the square of the hypotenuse is equal to
the sum of the squares of the other two sides.

28. 'ﬂﬁ1+sin26=35in6cos6%,?ﬁ&l@@ﬁﬁﬁﬁtan@:l@%tan@:%.

If 1+sinZ0 =3 sin 0 cos 0, then prove that tan6=1or tan 6 = %

29. = feu U §eT R W AfUE YHER & Fe U defu R TR 3@ e
‘@ srferes g 1 qr i |

i Aaue : [20-30|30-40|40-50|50-60|60—70|70—80 |80 —90

SRETET 10 8 12 24 6 25 15

Change the following distribution to a ‘more than type’ distribution.
Hence draw the ‘more than type’ ogive for this distribution.

Class

interval :

Frequency . 10 8 12 24 6 25 15

20-30(30-40|40-50|50-60|60—-70|70-80|80-90

30. U A SHIM W @l THR 6 orn 39 feafa 1 40 H). s1fees o=l 81 ot 2
Sraifeh T w1 IFAT (altitude) 60° T TR 30° B AT & | HHR 6 S8 719

i | (feam mn ® V3 =1732)

The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the

height of the tower. (Given /3 = 1-732)

130/3/1 | e
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